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Q.No: 1 Which of the following is one of the most important dance forms of Tripura?

2427024
FPufifed % 3 B AR & 9ed weayl T w0 4 A w2
Hojagiri
A
B
Cheraw Dance
B
W T
Chang Lo
C
Eukf
Maruni
D
A

Correct Ans : A

Subject : General Knowledge

Q.No: 2 Maharaja Ranjit Singh Cup, Aga Khan Cup, and Rangaswamy Cup are related to which sport?

2427521
TERTGN Yvrelid g $U, 3T @i 39 ok TTRar $U f$9 e ¥ Faftd g2
Wrestling
A
Eadl
Football
B
pedta
Hockey
C
g
Golf
D
TMew

Correct Ans : C

Subject : General Knowledge

Q.No: 3  Consider the following statements about Maulana Azad and select the false one-

2427999
e ofee & i # Frafif@d Sl T fER B iR sfrw & T H¥-
Azad was born in Bengal.
A
STIIE BT S ST & ol Tl
Azad was a scholar of Islam and an exponent of the notion of Wahadat-i-Deen.
B
elIE ST & g 9K qgTea-U-4H 31 4R & i Al
He was well-versed in many languages.
c
TE F% WISl & TR A1
D He was opposed to Jinnah's two-nation theory.
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% o 3 R-v1g Rl 3 RR 1
Correct Ans : A
Subject : General Knowledge

Q.No: 4 The FRBM (Fiscal Responsibility and Budget Management Act) rules mandate how many fiscal indicators to be projected in the medium-term fiscal policy statement?
2428982

FRBM (]IS ITRalidd iR Sofe UaeH aifafam) fram ag sifard o=ar § i 7o omfy & oy i G # fear o Jast 3t aftd e o g2

five
A

"

four
B

TR

six
C

B

two
D

El

Correct Ans : B

Subject : General Knowledge

Q.No: 5  Partition of Bengal was announced on which of the following day?

2432454
e & favTe 1 dwon Fafafed 3 3 e e it g o
19 July 1605
A
19 9@ 1605
18 July 1605
B
18 JaE 1605
16 October 1605
C
16 S{AER 1605
17 October 1605
D

17 IR 1605
Correct Ans : A

Subject : General Knowledge

Q.No: 6  In which of the following year, a Supreme Court was established in Calcutta?

2435710
Fafafea & 9 g of ¥ saeu & us vdia @ St o 3t e
1775
A
1775
1765
B
1765
1781
C
1781
1774
D
1774

Correct Ans : D

Subject : General Knowledge
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Q.No: 7 Which of the following is the approximate current GDP of India?

2435772

Fofafea & 9 uRa @t adam S amym e § 2

2.66 trillion
A

2.66 fefem

5.2 trillion
B

5.2 fefermm

4 trillion
Cc

4 fofm

3.7 trillion
D

3.7 fefemm

Correct Ans : A
Subject : General Knowledge

Q.No: 8  Soil erosion can be stopped by which of the following?

2440714
Frafifda & I 59F §RT 71 SIiRes AT off IHar g ?
By planting forests
A
& 90 gR
Increase in the number of birds
B
ugft W # 3 gR
By overgrazing
C
f R TR
By vegetative eradication
D

T S GRT
Correct Ans : A

Subject : General Knowledge

Q.No: 9 Lavani folk music is associated with which of the following Indian states?

2440758
wraoht dire Tt fafafed § § e U e § HEia 2
Gujrat
A
TR
Himachal Pradesh
B
T g
Bihar
c
R
Maharashtra
D
HERTY

Correct Ans : D

Subject : General Knowledge

Q.No: 10 Asian games 2022 will be hosted by which country?
2440824

g Aa 2022 3 ATEF B A gRT 3 S
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A China

Japan

Qatar

PR

Saudi Arabia

Tl RS

Correct Ans : A

Subject : General Knowledge

Q.No: 11 Between whom the first cricket ODI was played at the Captain Roop Singh stadium?

2440933
FuH w4 Rig ©fean & qean fhdbe o718 [Fud s dar w1 91
India vs Bangladesh
A
R S SRR
India vs Sri Lanka
B
R S 8t T
India vs Pakistan
C
YR T TS
India vs West Indies
D

HRA FTH AT
Correct Ans : D

Subject : General Knowledge

Q.No: 12 Since 1895 has been the headquarters of the political agent in Malwa.
2441129

1895 & HredT § IGHIAF Tie T Geared Haf 361 87?

Jhabua
A

EIEE]

Neemuch
B

RiGel

Khargone
C

T

Morena
D

sl

Correct Ans : B

Subject : General Knowledge

Q.No: 13 Which fort was described by Mughal Emperor Babur as ‘the pearl amongst the fortress of Hind"?
2441157

A GHIE 9161 A {59 fo5d &1 'fee & fva & o9 At & wu & aftfa fear ae

Jhansi Fort

ikt 1 far

B Gwalior Fort
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IR T forem

Ahilya Fort
C
Sifean e
Chanderi Fort
D

<8 fren
Correct Ans : B

Subject : General Knowledge

Q.No: 14 The ancient sites of Vaishya Tekri and Kumbhar Tekri can be found at
2441195

I THY AR FUR TH & Ui I 9T & o 9@ B

Datia

aferar

Rewa

Ujjain

Satna

a1
Correct Ans : C

Subject : General Knowledge

Q.No: 15 Surya Temple, Sesai was built by rulers.
2441255

qf wifdw, S ! GRS T

Pratihara
A

WieR

Durjara
B

ol

Chol
C

G

Maurya
D

arf

Correct Ans : A

Subject : General Knowledge

Q-No: 16 Where is the University Institute of Technology Rajiv Gandhi Proudyogiki Vishwavidyalaya located?

2441503

TN} i S Teia el Srefie) Rl wef R 22

Indore
A

w©R

Bhopal
B

T
(o) Gwalior
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IR
Jabalpur

SEAR
Correct Ans : B

Subject : General Knowledge

Q.No: 17 In which year was the Madhya Pradesh Medical Council established?
2441514

T yex BiSHa SRR 3t wiIo g av g€ o

1978
A

1978

1984
B

1984

1996
[

1996

2005
D

2005

Correct Ans : C

Subject : General Knowledge

Q.No: 18 Which of the following districts has the lowest sex ratio in Madhya Pradesh (as per the Census 2011)?

2441598
o & & o R 1 RiMuIa T vew & el &1 § (2011 $ ST F SAUR)?
Bhind
A
fis
Morena
B
e
Jhabua
e
g
Datia
D
efear

Correct Ans : A

Subject : General Knowledge

Q.No: 19 - Total expenditure of Madhya Pradesh for 2021-22 is estimated to be
2441857

2021-22 & T ALY W= 1 $A o7 SIHIA 3-
Rs 4.40 lakh crore

A

4.40 TI ST

Rs 2.34 lakh crore
B

2.34 T NS T

Rs 3.28 lakh crore
C

3.28 A IS ©

Rs 1.2 lakh crore
D

1.2 TRE FIS T

Correct Ans : B
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Subject : General Knowledge

Q.No: 20 Madhya Pradesh’s capital outlay for 2021-22 is estimated to be Rs 40,667 crore, which is what percentage annual increase over 2019-20?

2021-22 & forw ner v 1 Yo U 40,667 TS TUA §H B SFHF 7, S 5 2019-20 3 o  fraw nfowa affes af &2

2441880

18%
A

18%

23%
B

23%

7%
C

7%

12%
D

12%

Correct Ans : A

Subject : General Knowledge

Q.No: 21 The porcelain filter was developed in the lab of
2422808

TiffeH ey fparapt wrRimTren & el T 412

Pasteur
A

R

Louis Phillipe
B

o el

Dalton
C

Slee

Aristotle
D

S

Correct Ans : A

Subject : General Science

Q.No: 22 Work can only be done if a is applied.
2425868
o aft e S Wordl @ W9 U T I
Force
A
Chl
Energy
B
St
Sound
C
afy
Pressure
D
COIC)

Correct Ans : A

Subject : General Science

Q.No: 23 Which type of pollution caused by the industry would also emit the hazardous noise of machinery?

2429010
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JENT GRT M I 5 TR & Uguur § TR o1 WA WR o P 82

Noise pollution

A
g
Water pollution
B
T TG
Air pollution
C
arg g
Hazardous pollution
D

HRATD Uguol
Correct Ans : A

Subject : General Science

Q.No: 24 Which of the following is the hard top layer which has a characteristic feature of the solid crust of the earth?

2429100
Frafafed & @ 39 @ TR 3 wa 8 e gl 3t 3 wRa @1 fadwa g2
lithosphere
A
iR
hydrosphere
B
SaHSd
biosphere
C
Savsd
stratosphere
D
HHATg HeA

Correct Ans : A

Subject : General Science

Q.No: 25 Directions: The following question consists of two statements one labeled as “Assertion” and the other as "Reason”. You have to examine these two statements carefully and s
2429872 correct answer to the question from the given options.

Assertion : (A) Indian sharks and electric ray are cartilaginous fishes

Reason: (R)these fishes consist of cartilaginous endoskeleton.

e fofufad uy # < w3 § e 8 o @ iy " SR g S "SRU $ wY F A9a Soa T ¥ 3uHt 3 SHI Sl ) WayHiYds 9 S § ol U U fawedt ¥ I gy &1 wet St
fiHe: (A) HRHE I IR gAfEeD ¥ BRcansr Asfa §

PR (3R) 57 ol #§ i (Srapaed g gl

(R) is true but (A) is false.

A
(R) T & AfF (A) o Bl
(A) is true but (R) is false
B
(A) §4 § AT (R) T &
(A) is false.
C
(A) T4 B
(R) is the correct reason for (A)
D

(R) (A) & R Sl oRur §
Correct Ans : D

Subject : General Science
Q.No: 26 Which one of the following is the odd one out in terms of extra embryonic membranes?

2429950
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sifefvar yofta ffeerl & weal & Frafafea & & -w fawm @2

Reptilia
A
W
Amphibian
B
SHTR
Mammals
C
TUR
Whale
D
=a

Correct Ans : B

Subject : General Science

Q.No: 27 is @ medication used to treat hyperthyroidism.
2430393

_ CRWRUTRREHE & O & R s @ 99 and a1 g1

Strontium-90

A
wifeaw-90
Carmine
B
BRAT
Iodine-123
[
HEIEH-123
Cobalt-60
D
Flale-60

Correct Ans : C

Subject : General Science

Q.No: 28 ___ has the odour of chlorine.
2430397
& g @1 Y gl 1
Bleaching powder
A
oo oof
Baking soda
B
EEk:IS
Washing soda
C
IR HeT
Cement
D
dhfe

Correct Ans : A

Subject : General Science

Q.No: 29 Which of the following is also known as dry ice?
2430994

Frofafea ¥ 4 58 g a6 $ & & o o o 32

Nitrogen

BIEEEE
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Carbon dioxide

B SRR
Ozone
C
i
Oxygen
D
ftRfer

Correct Ans : B

Subject : General Science

Q.No: 30 Lemon contains which acid?

2431602
i & 1 1 sp gar 82
Palmitic acid
A
ufafes ufrs
Citric acid
B
R TS
Tartaric acid
C
Rl ot
Nitric acid
D
RS WS

Correct Ans : B

Subject : General Science

Q.No: 31 In which year the Wildlife Protection Act was passed?

2431786
gl wRemT siffgn fare adf & uifed famar mar are
1971
A
1971
1972
B
1972
1973
[¢
1973
1974
D
1974

Correct Ans : B

Subject : General Science

Q.No: 32 Which of the following is NOT a recommendable thing to do with respect to health and hygiene?

2434283
FroffEa & 3§ S W AR W S Tay A iR T 82
Cleaning ears and nails
A
P R G P BT
Eating fruits fresh and directly from the market
B
TS IR W TR § @ @
C Keeping the kitchen clean
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e Y 9 @

Using clean water to wash utensils

A 49 F RIT AI6 ur BT SuEeT S

Correct Ans : B

Subject : General Science

Q.No: 33 Yotta means -

2436440

reT 3ufd -

102!
A

102[

104
B

102-1

1077
o

1027

1030
D

1030

Correct Ans : B

Subject : General Science

Q-No: 34 Which of the following is present on the head of a matchstick?

2437184
Froferfaa & & oo witm @ il & RR &R Ao et 82
Antimony trisulphide
A
et greeerEs
Ammonium chloride
B
ST FRES
Sodium hydroxide
C
WS TS
Magnesium dioxide
D

iR SReilaRs
Correct Ans : A

Subject : General Science

Q.No: 35 How many times does the human heart beat in a minute under normal conditions? (Approximately)
2439928

TR SR A A F1 g5 U e § fbaelt aR usdar 2 (amvm)

72 times

A
723§R
80 times

B
80 SR
90 times

C
90 SR
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60 times

60 IR
Correct Ans : A

Subject : General Science

Q.No: 36 Choose the correct mirror image/jpg of this combination- GHITHIO894PO]J.

2425693

39 TAIoM @f 98 U0 Bf3 gH- GHITHIO894PO)

LO9+-RZOIHTHOL
A

LO91R3OIHTHODL

LO91RZOIHTIDH
B

LO91RZOIHTIDH

LO9}-R2OIHTIHD
c

LO9}-R2OIHTIHD

LO9}-R2OIHDHLT
D

LO9}:e2OIHDHLT

Correct Ans : C

Subject : General Reasoning

Q.No: 37 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426308

DRIVEN : EDIRVN :: BEGUM : ?

I SER-FHE BT TG P O TR HER-TE U S YR Fefid § S GRRT 31eR-THg, Ued SH&R-ag § el 31

DRIVEN : EDIRVN :: BEGUM : ?

UEBGM
A

UEBGM

EUBGM
B

EUBGM

BGMEU
C

BGMEU

BGMUE
D

BGMUE

Correct Ans : B

Subject : General Reasoning

Q.No: 38 John and Khan start traveling in opposite directions together, from a certain point on a motorcycle. In that the speed of John is 25 km/h and that of Khan is 35 km/h. Accordin
2426383 5 minutes, what will be the distance between them?

S SR T HieuRied IR U6 W fig ¥, e a1y fRQudd foxnsl # anm smy oXa 81 998 o 391 Tif 25 frdniier/sder ok @M @t 7fa 35 franfier/der 31 deIguR, 15 fiFe % q1e, 3% d@

et &1 st
15 km

A
15 km
20 km

B
20 km

(o) 5 km
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5 km
10 km

10 km
Correct Ans : A

Subject : General Reasoning

Q.No: 39 From the given diagram, Find out the number of people who are unemployed.

2426565
190
Business
g e o &, SRISFIR AN 3 WS F1a il
500
190
A
190
170
B
170
210
c
210
480
D
480

Correct Ans : C

Subject : General Reasoning

Q.No: 40 Find the missing term in the following series.

2428322
ST39, UV43, WX47, ?
FrafafEa gaa # g ug I $ifeg
ST39, Uv43, WX47, ?

Z47

A
Y247
YZ52

B
Y252
YZ51

c
YZ51
YX50

D
YX50

Correct Ans : C

Subject : General Reasoning

Q.No: 41 Kunal walks 20m south, he turns left and walks 30m, then he turns left and walks 35m, then he turns right and walks 15m, then he turns right and walks 15m. he again turns
2429705 and walks 15m.How far is kunal from his starting point?

P 20 Hiex afér 3 SR Fere 7, R 98 91 g 3 ofR 30 Hiex gdar &, R 98 a1 gsar § SR 35 Hiex T 3, fOR 98 I gear § 9k 15 Hex Fod 3, R 96 @ g5 8 o) 15 Hex
I8 Q: T G § 9K 15 Hiex Iaar §1 pUne oo URA g I el g W g2
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25m

A

25 .

i5m
B

15 .

45 m
¢

45 .

30m
D

30 .

Correct Ans : D

Subject : General Reasoning

Q.No: 42 In the following question, a certain series of numbers or letters is given of which one series is empty. You have to decide which of the alternative series of the answer will be us
2433143 he plank space that is originally related to the sequence of that series.

ZW19, US16, PO13, ?

Frofafaa vy 3, Temst ar sl 9t e A gea & € 3, R 9t e @d 81 et 98 99 o3 § 5 7w T § 39 e & oo F Gaid Red =i # 3w ot o A defae gae
IugnT fan Se

ZW19, US16, PO13, ?

KO10
A

KO10

KJ10
B

KJ10

KI10
Cc

KI10

KK10
D

KK10

Correct Ans : D

Subject : General Reasoning

Q.No: 43 A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:

2434072
A
L@ 2
00 080
e f3 91T AT FATaT TAT 2 T & 998 ST Al [Ashed B T4 H3h a3 &l I9 HiL:
CoT TR s
00 000
A
B =
VLY
-] +
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N
<
<

]

> [

C
AAA
)
D
AAA
cI 0

Correct Ans : C

Subject : General Reasoning

Q.No: 44 Select the figure that will come next in the following figure series.

2434146
)
[N

I MPfa T T B S e sl e 7 o emg

Y[V |-NT

RN

N

r‘@v

r‘@v

A
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Correct Ans : A

Subject : General Reasoning

Q.No: 45 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.

2435019
Frofafed TR R Tl § 3 dF 1@ FEd o 3 9E § ok @ o 71w g
BD
A
BD
DP
B
DP
CH
c
CH
EY
D
EY

Correct Ans : C

Subject : General Reasoning

Q-No: 46 In the following question, select the odd number from the given alternatives.

2435062
Frofafea gy § fau U fawedi & § fawm g8 &1 997 Sifau
5027
A
5027
6054
B
6054
2032
C
2032
5822
D
5822

Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the classes that best represents the relationship among the given diagram.
2435623
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F T BT UEAH B ol 3T T SR & o Ty 1 T 3T Wi wRa g1

Pigeon, Bird, Dog

A
HER, e, P
Author, lawyer, singer
B
AP, qHId, D
Factory, product, Machinery
C
BREMI, I, A
Men, Fathers, Engineer
D

g! ’ ﬁ?:n.l si !
Correct Ans : D

Subject : General Reasoning

Q.No: 48 Three of the following four number-pairs are alike in a certain way and one is different. Pick the odd pair out.

2438923

Frfifed TR Sen-gui # § $7 7w @ veR THunE § R U g SR §1 SEEH SO I $1 947 Sl

4:27
A

4:27

49:218
B

49:218

16: 125
C

16: 125

9:64
D

9:64

Correct Ans : B

Subject : General Reasoning

Q.No: 49 Find the odd word/letters/ number from the given alternatives.
2438953

a2 o fowedt # 9§ favm wea/sierl/<en ®1 gl

5,124
A

5,124

7,342
B

7,342

3,26
[

3,26
D 2,15
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2,15
Correct Ans : D

Subject : General Reasoning

Q.No: 50 L is brother of M. M is father of N. N is son of O. How is O related to L?

2439334
LMBTHERIM, NFTRAMIIN, 0BT T 31 0, L ¥ 59 UoR Hafda 32
Brother
A
g
Sister
B
Cal
Sister-in-law
(o}
et
Data inadequate
D

S srafe
Correct Ans : C

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440201 logically consistent with the main statement.

When she takes an examination, she clears it.
A. she took an examination

B. she did not take an examination

C. she cleared it.

D. she did not clear it.

T 7T vy & g7 T SR ITF 1% IR BUA &1 HU BT B I T, TG Ued YA B A G B 8, IR < FUA qMhD T T T FUF I G B
o 7g U e I 8, < a5 I o @R Al B

A. T TF oden &

B. ST T Tl &l

C. 91 39 U & femm

D. 391 34 U 8T faban|

AC
A

AC

BC
B

BC

DA
Cc

DA

cb
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440250 |ggically consistent with the main statement.

She will be punished severely, if she uses mobile in the class again.
A. she used mobile in the class again.

B. she did not use mobile in the class again.

C. She was punished severely

D. She was not punished severely

https://mppeb.cbexams.com/MPPEB_Cand_Objections/PCRT_obj_adminpanel/Final_Model_Answer.aspx 18/35
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2w 7T v # 71 T SR IEF A% IR HUA §1 FU BT HRIG I TH, ST6T Te0 SUT BT Al I BT I g, SR < T a1 w9 § el FUF § 9 §
Fefl H YIRT AET AT B R I FGF Y FEl Tl & Sweh |

A. 3G Bl § 52 | HisTge BT SR bl

B. I8 R & & & wiarge &1 7 e fean

C. s aw g Al

D. I8 $3R g3 781 fear ar o1

BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440416 logically consistent with the main statement.

The book launch ceremony is either on Tuesday or on Wednesday
A. The book was launched on Tuesday

B. The book was not launched on Tuesday

C. The book was launched on Wednesday

D. The book was not launched on Wednesday

T T gy # g81 Fu SR SUS 9% IR P §| YA FT B TH T, TT61 Ted HUT BT Al GOk DU 9 g, IR & FU divd w0 § §B FY Y E g
&I e GERIE 9 A WEER 9 gYdR B g 8

A. §5% $1 faHied deaR &1 faar m

B. TWI® PI faigH HIeaR S 781 g u

C. YR B TP P [qrre faman man

D. Y% &1 faiae guar &1 gl gofl

AB
A

AB

DA
B

DA

CA
C

CA

BD
D

BD

Correct Ans : B

Subject : General Reasoning
Q.No: 54  Select the option that is related to the third word in the same way as the second pair is related to the first pair.
2441984

Peso : Chile :: Ringgit : ?

I Red &1 797 B o IR ea § I e el ¥ IR g1 WIeg URd Wes § e 2

g foreht 1 Rfa:?
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A Malaysia

HARR
Malta

Heet

Zimbabwe

sy
China

==

Correct Ans : A

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442011
Lion : Pride
g e faeedl § Heid Wes o1 9 R
2R : IR FTIGE
Tiger : Brave
A
o9 : §8Igy
Hill : Mountain
B
T : gdd
Reptile : Poisonous
C
e siwg: i
Wolf : Pack
D
A : +frg FEA

Correct Ans : D

Subject : General Reasoning

Q.No: 56 . * O re + -+ ~56=
2232404 Simplify: 2089-[39 + {102 +(96 + 56 ~ 8 x 2)}]

IRA DI 2089 - [39 + {102 (96 + 56 + § x 2)}]

1800
A

1800

1726
B

1726

1722
C

1722

1838
D

1838

Correct Ans : D

Subject : General Maths

Q.No: 57 289 {35 42, 14)}

2422425 Simplify: = — {2+ (5 + =

o 289 36 42 14
ﬂw”““ﬁ‘%+%*7ﬂ

A _sez8
476
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5828
76

5828
476
B
5828
576
5876
)
432
C
5876
|
432
6789
) ——
234
D

6789
'
234

Correct Ans : B

Subject : General Maths

Q.No: 58 The average of 5 terms is 50. If the first 4 terms are 45, 42, 119, and 84, what will be the last term?
2432532

5 U} &1 3fRTd 50 31 S UGS 4 UT 45, 42, 119 3R 84 §, sifon srferar @ g

-80
A

-80

-a0
B

-40

+80
c

+80

+40
D

+40

Correct Ans : B

Subject : General Maths

Q.No: 59 A 50L mixture of tea contains 20% of milk. How much milk should be added to it so that the new mixture contains 10%?

2432748

I & 50 Wlex Ao & 20% g T 3UH ra=r gy framn ST 1T A T frsor 7 109% g2

5.5L
A

5.5L

5.4L
B

5.4L

5.3L
[¢

5.3L

5.1L
D

5.1L

Correct Ans : A
Subject : General Maths

Q.No: 60 How much pure alcohol must be added to 16500 ml of a solution containing 25% of alcohol to change the concentration of alcohol in the mixture to 80%
2432765

fhrgyor & Sreplea o Aisal BT 80% H §aeH & 1T 25% Sepigd a9 & 16500 frefieiier # frah g srewiea frens it =nfew?
A 21980
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21980

5289
B

5289

45375
[

45385

15488
D

15488

Correct Ans : C

Subject : General Maths

Q.No: 61 209 L of a mixture contains alcohol and water in the ratio 23: 17. If 8 L of water is mixed in it, the percentage of alcohol in the new mixture will be
2432791

T firyor % 209 Wex H srepige SR U &1 Sud 23:17 §1 i 388 8 Wfiex urh firen far s, < =g fsor & srepiea &1 wfad faamn gme

43.52
A

43.52

91:16
B

91:16

39:91
C

39:91

53:37
D

53:37

Correct Ans : D

Subject : General Maths

Q.No: 62 There are two vessels A and B. Vessel A is containing 55 L of Pure milk and vessel B is containing 35 L of pure water. From vessel A, 5L of milk is taken out and poured into ves
2432794 Then, 10 L of mixture (milk and water) is taken out from vessel B and poured into vessel A. What is the ratio of the quantity milk in vessel A to the quantity of pure water in ve

I 5 A 3R B &1 57 A & 55 ofieX Yk gy & SR i B H 35 WiteR 5 UF 31 A A 9, 5L gy Fpren St & 9iR s B H sran e 31 i, w4 B ¥ 100 sy (gy SiR urh e s @ -
T A B ST 9T §1 S A B g P AR &7 SFUd 71 82 9o B H Y U 3t Jmmne

732:761
A

732:761

41:32
B

41:32

391:910
C

391:910

293:271
D

293:271

Correct Ans : B
Subject : General Maths

Q.No: 63 A Car reaches the office at a speed of 40 km/hr from home. There is a lot of traffic on the way back home, so the car speed is 20 km/hr. What is the average speed of the car?
2433843

TH IR | 4 40 fHri/der 3t nfa § srfas qgd 1 W 09 3R F I & 959 ot e §, 39R oR 3t wfa 20 frfyder ¥ oR 31 sia i @ 2

40 km/hr
A
40 fe/der
B 30 km/hr
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30 ity e

25 km /hr
C

25 fpdi/der

20 km/ hr
D

20 fsit/der

Correct Ans : B
Subject : General Maths

Q.No: 64 The average of five consecutive odd numbers is 9. Then find the greatest number.
2433858

oie saTTd fwe wRemedl @ SN 9 §1 < Ted 9t I 3 il

5
A

5

11
B

11

13
C

13

9
D

9

Correct Ans : C
Subject : General Maths

Q.No: 65 Average of two numbers is 90 and one of the numbers is twice the other. Find both the numbers.
2433922

< Tl &7 fd 90 § SR Us Gew gudl e ¥ Al €1 S GBI i Y2

60 and 120
A

60 3R 120

50 and 100
B

50 3R 100

55 and 110
C

55 3R 110

65 and 130
D

65 3R 130

Correct Ans : A
Subject : General Maths

Q.No: 66 gimplify: 85+22-40%2

2433941
T BIOIE 85 +22-40% 2
54
A
54
56
B
56
c 27
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27
99

99
Correct Ans : C

Subject : General Maths

Q.No: 67 Evaluate:10x2-12+3-2x17.5+9x3

2433995
TMUAIHR 10x2-12+3-2x17.5+9x3
12
A
12
8
B
8
17
C
17
7
D
7

Correct Ans : B

Subject : General Maths

Q.No: 68 Two number are in the ratio of 5:3 and their LCM is 150. The first number is:
2435368

T 5 : 3 % U § 3R I T.9. 150 31 Tl T B

30
A

30

50
B

50

60
C

60

100
D

100

Correct Ans : B
Subject : General Maths

Q.No: 69 The fourth proportional 12, 21, 6 is:

2435400
12, 21, 6 P1 Igef S F1 gMr?
10
A
10
12.5
B
12.5
10.5
c
10.5
15
D
15
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Correct Ans : C

Subject : General Maths

Q.No: 70

; i q - i i {es?
2437067 What should come in place of question mark in the following number series?

JAB=Tx7) +11=23 +5+14

Fraferfaa dear-gaer # wafeeg (2) % = 9w AT Ariey?
JAB+7x) +11=23 +5+ 14

156

156
150

150
152

152
154

154
Correct Ans : D

Subject : General Maths

QNo: 71 Ty 3 row, X is 24% from left end and Y is 28% from right end. When they interchange their position
2425607 ; . N . A
respectively, then Y becomes 40 from right end. Then what will be Gaurav position from left after
interchanging?

T Ui H, X T8 BR ¥ 243 iR ¥ @ BR T 288 ”IF W §, 9 I U U] RIF Fqad ¢ of faH1d ol BR & 40ai 1 9@ 81 6 91 J Ra BT RIH 1 geme

32
A

32

35
B

35

36
C

36

34
D

34

Correct Ans : B
Subject : Mental Ability

Q.No: 72 Two different appearance of a dice is shown below, which number lies to the opposite of *3°?

2429621

Ueh URAT & &1 3ToTeT-37eTeT Ta®d el fe@re 1w §, 3 gaifer arer Beleh & faudia aier
@ dear @7

s
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a4
B

a4

1
C

1

2
D

2

Correct Ans : D
Subject : Mental Ability

Q.No: 73 Three positions of a cube are shows below. What will come opposite to face containing ‘Q'?

U T A A Rt Je gafs g §1'Q' e Fore & g T 3mem?

u
A

u

@
B

@

w
C

w

¥
D

b4

Correct Ans : D

Subject : Mental Ability

Q.No: 74 If the word MENTAL is coded as 130514200112, then how will word ABILITY be coded?

2434937
Ife & MENTAL BT 130514200112 ¥ Geas fba1 STY, @ 2eg ABILITY &I 59 UeR ge faar smam?
01020912092025
A
01020912092025
00120912092025
B
00120912092025
100120912092025
C
100120912092025
D 01029102092025
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01029102092025
Correct Ans : A
Subject : Mental Ability

Q-No: 75 In a certain language STAR is written as 60, then how is DOLL coded in same language?

2434957

& fAfd ge W F STAR F1 60 & w0 foran ol @, @1 I e w1 & DOLL 1 ¥ feran smem?

32
A

32

45
B

45

48
C

48

42
D

42

Correct Ans : B
Subject : Mental Ability

Q.No: 76 In a class, Monu's rank is twenty-third from the bottom and is thirty-seventh from the top, how many students are there in that class?
2435311

TF el H, O 1 *M 91 § TS0t § ok W I oivat B, 39 wan & fram o €2

58
A

58

57
B

57

59
C

59

60
D

60

Correct Ans : €

Subject : Mental Ability

Q.No: 77 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435489 commonly facts and then decide which of the given conclusions logically follows from the given statements.

Statements:

I. All chips are battery.

II. All chargers are battery.
III. All battery are mobiles.
Conclusions:

1. Some chips are mobiles.

I1. All chargers are mobiles.

1w o vy # i Hy fou U § o a1g & e 1 9iR 11 AU T §1 Sueh 3T T et 1 A W B, M9 g 3 W a9 i wedia g1 g SR iR au 3 o o a Fre fw o
qHe T F SR T 3

PY:

1. oft far &8t §)

11, Tt TRk 98§
111. T St Aiesd g1
e
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1. $o fag e 31
11. Tuft =Rk Aierga g1

Only conclusion I follows.

A

Faer Frep 1 SR BT 71

Only conclusion II follows.
B

Faa Frep 11 SR Hea B

Both conclusions I and II follows.
(o}

R e I SR 11 SRR HRa B

Neither conclusion I nor II follows.
D

T o e 1 R T & 11 SrgERYr e B
Correct Ans : C
Subject : Mental Ability

Q.No: 78 Complete the following series

2438770
75, 291, 416, 480, 507,
Ffifaa sae o gu 5%
75, 291, 416, 480, 507,
515
A
515
532
B
532
511
c
511
521
D
521

Correct Ans : A
Subject : Mental Ability

Q.No: 79 If ‘white’ is called ‘blue’, *blue’ is called ‘red’, ‘red’ is called ‘yellow’, yellow' is called ‘green’, ‘green’ is called ‘black’, ‘black’ is called ‘violet’ and ‘violet’ is called ‘orange’, what wo
2439261 the colour of human blood?

Red
A

T

Green
B

Al

Yellow
C

e

Violet
D

S

Correct Ans : C
Subject : Mental Ability

Q.No: 80 Sam ranked ninth from the top and thirty-eight from the bottom in a class. How many students are there in the class?
2439544

7 SR FHeT A FR Y A RIM R § R Y orsdid wiF |, o a1 & oo oo faendf 82
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45
46

46
47

47
48

48
Correct Ans : B
Subject : Mental Ability

Q.No: 81 Find the next term in the series.

2440502
EF, IL, MR, QX, ?
4l 1 ST UG J1d DI
EF, IL, MR, QX, ?
DF
A
DF
cv
B
cv
ub
[+
ub
cP
D
cp

Correct Ans : C
Subject : Mental Ability

Q.No: 82 Find the next term in the series.

2440517
MEZ, NGX, OIW, PKU,?,
41 BT ST UG J1d DRI
MEZ, NGX, OIW, PKU,?,
QMN
A
QMN
QMT
B
QMT
QNP
[¢
QNP
QNT
D
QNT

Correct Ans : B
Subject : Mental Ability

Q.No: 83 Ifin a certain code language PARROT is written as ‘123345’ and ‘SOAT' is written as ‘6425’, then how would ‘ROAST be written in that same code language?
2442186

g va PfEd F1g o & ‘PARROT’ &1 123345, *SOAT’ B 6425’ o ST 8, A1 'ROAST' &I I U1 7 H feran wmerm?
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A 32456

32456
32564

32564
34625

34625
34265

34265
Correct Ans : D

Subject : Mental Ability

Q.No: 84  Which one word can be formed from the following letters ?
2442880

b ceamlinig

Frofifda oeRl I S U1 TF Xsg ST ST ISl 82

b cea mlinig

becoming
A

becoming

becalming
B

becalming

beshaming
C

beshaming

betrained
D

betrained

Correct Ans : B
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2443054

1. Approach

2. Appropriate

3. Approval

4., Approve

Frofafed Wt @1 sl TeeR & G T w0 & sER fafdu)
1. Approach

2. Appropriate

3. Approval

4. Approve
1,3,4,2

1,3,4,2
1,2,4,3

1,2,4,3
3,2,1,2

3,2,1,2
1,2,3,4

1,2,3,4
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Correct Ans : D

Subject : Mental Ability

Q.No: 86 Hari weaves 23 baskets in 66 days. In how many days will she weave 374 baskets?

2423732

B 23 R & 66 Tl gt §1 98 374 Sl fam sl & gvfte

120 days
A

120 f&A

140 days
B

140 @A

187 days
[

187 o=

376 days
D

376 faA

Correct Ans : C

Subject : General Aptitude

Q.No: 87 A pipe can fill a cistern in 11 hours Due to a leak in the bottom it is filled in 13 hours When the cistern is full, in how much time will it be emptied by the leak?
2423746

TP USY TF <P Bl 11 9 H W Gl §1 90 § U UG F SR 98 13 6 H 4R STl g1 5/ <ol 2R S, o g & a8 s wa & @t 81 s
616/31 hours

A
616/31 ¢
321/17 hours
B
321/17 92
249/5 hours
C
249/5 4
143/2 hours
D

143/2 6
Correct Ans : D

Subject : General Aptitude

Q.No: 88  Calculate the cube’s edge length ifits surface area is 7776 cm?.

2426274
e st g a1 7776 THR § Arae 61 TRk &Y oiars &Y 0T i |
12 cm

A
12 Ffiex
25 cm

B
25 ¥efiex
36 cm

c
36 ¥drfiex
17 cm

D
17 ¥énfier

Correct Ans : C

Subject : General Aptitude

Q.No: 89  Find the Mode of the series 32, 15, 25, 20, 8, 46, 43 and 51
2434588
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32, 15, 25, 20, 8, 46, 43 3R 51. T & IgAP T 32

24.6
A

24.6

27.4
B

27.4

25.5
C

25.5

29.2
D

29.2

Correct Ans : C
Subject : General Aptitude

Q.No: 90 The price of fifteen shares in rupees are as follows :
2434596
46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25

Find the Mode of the price.

J0T Uy J9 # aed 59 UPR B
46, 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25

P FT TGP I IoTY
59

59
73

73
25

25
80

80
Correct Ans : C

Subject : General Aptitude

Q.No: 91 A square with maximum possible side is drawn in a circle of radius 12 cm. Find the area of square.

2434672
T Ha YT arar O o 12 I B % ue ga @ T ) & a1 dwd 91 S
276 sq cm.
A
276 Ff it
288 sq cm.
B
288 i It
c 72 sq cm.
72 @i e
184 sq cm.
D
184 o It

Correct Ans : B
Subject : General Aptitude

Q.No: 92
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2436067 P is thrice as productive as R. Together they can complete a job in 22.5 days. If Q joins them after they have worked for 15 days then in how many days can they finish the res
job if Q alone can do the job in 15 days?

P Bt Prfemrn R F R &1 @ e st o1 @61 22.5 Rl # g1 aR wahd €1 e 37 991 & 15 R #1037 & g Q +ft 3% Iy i & 9 B < § 91 §U AT Bl b wa B Qu aR
3T 3T FM FI 15 AT B IR TFar 82

5

2
Correct Ans : B

Subject : General Aptitude

Q.No: 93  The least number, which when divided by 5, 6, 7 and 8 leaves a remainder 3 in each case, but when divided by 9 leaves no remainder, is—
2436178

95 T B TSN HH-A § B 5, 6, 7 3R 8 F UFT 34 R ydP =0 A 3 Iy F, g 9 F 4T 37 R $o AN A@?

1677
A

1677

1683
B

1683

2523
C

2523

3363
D

3363

Correct Ans : B

Subject : General Aptitude

Q.No: 94 Number of composite numbers lying between 67 and 101 is
2436191

67 3R 101 & &g farit WTsa TEm 82
27

27
24

24
26

26
23

23
Correct Ans : A
Subject : General Aptitude

Q.No: 95 What is the perimeter of an isosceles triangle when the two equal side is given as 8 cm and the other side is given as 4 cm?
2436819

T gufgarg Ry 1 aRg 391 S o &) 9 oee 8 et 9 ofR et e 4 F+f g
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A 16

16
24

24
20

20
26

26
Correct Ans : C

Subject : General Aptitude

Q.No: 96 Mother is four times the age of her son. If after 5 years, she would be three times of son’s age, then after 15 years, how many times she would be of her son’s age?
2436911

Tl $ g I9B GF BT Mg 3T IR T §1 9 5 99 a1, IST 1Y GF BT 0y 3 A T |, A 15 9 1, ITDY 301G G B 341G Bt e T g

3 times
A
3T
11,
— times
s
B
11
ST
4 times
C
4T
5.,
= times
2
D

5
;T

Correct Ans : B

Subject : General Aptitude

Q.No: 97 Find the mother age after 8 years, if the ratio of age of mother and son is 4 : 3 and the product of their ages in years is 1200.

2436926
afe i Td G Bt Y BT ST 4:3 § AU1 I8 H ITH $1g BT TEGE 1200 7, <t 8 9 a1g 7 BT 3y I FARrw
48 years
A
4g Ty
46 years
B
469y
44 years
C
443
42 years
D
42 ¢

Correct Ans : A

Subject : General Aptitude

Q.No: 98 Three years ago Sachin‘s age was 3 years more than 6 times his son’s age. Four years later his age will be ten years less than four times his son’s age. Find their present ages
2436930

o7 o gd Ot 3 oy, IUF G B oG & 6 A I 3 79 o4 2R IR Y aIE IUST MY, IS GF BT MY & IR T § 59 I TH gil| IS adAM 1 1 Hifer

A 29 and 7 years
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29 3R 7 of
28 and 7 years

B

28 3R 7 9

29 and 8 years
C

29 3R 8 T

30 and 7 years
D

30 3R 7 o

Correct Ans : D

Subject : General Aptitude

Q.No: 99 There are two jugs of capacity 240L and 70L are filled with juice. What must be the capacity of a mug that can completely measure the juice of the given two jugs?
2437839

240 iR 3R 70 Hex & & o § N W F W T TH W St & 1 g I1feT o < o H 3T TN <9 9 gl ke & A9 g

10L
A
10 i
5L
B
5 diex
280L
C
280 diex
2L
D
2R

Correct Ans : A

Subject : General Aptitude

Q-No: 100 what will come in place of the question mark (?) in each of the following number series?

2444681
24, 625, 26, 729, 28, 841,
ot & & < g yaen 7 uy {5 (2) & RA W T 300T?
24, 625, 26, 729, 28,841, ____
30
A
30
29
B
29
900
C
200
961
D
961

Correct Ans : A

Subject : General Aptitude
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